
HV-4
HV-6, 8, 10, 12, 14, 16

6SHFL¿FDWLRQV

ORDER
NO.

7DEOH %DVH
GLPHQVLRQ

:LGWK�RI
7�VORW

%ROW
VORWV

7KH�/RDG�&DSDFLW\
)RU�5RWDU\�7DEOH &HQWHU

VOHHYH

*URVV�:HLJKW�NJ�
ZRRGHQ�FDVH�:��&DUWRQ�&� 0HDV�

&)7
&2'(
NO.

2XWHU�GLDPHWHU +HLJKW

A1 D H H1 A B e 7\SH J +RUL]RQWDO 9HUWLFDO N.W. G.W.

HV-4 58 110 72 80 138 118 11 35 KGS 18 KGS MT-2 7KGS 7.5KGS (C) 0.3 1001-000

HV-6 78 150 80 102 205 163 11 17 40 KGS 20 KGS MT-2 12.1KGS 12.7KGS (C) 0.4 1001-001

HV-8 100 205 102 135 265 219 14 17 80 KGS 40 KGS MT-3 24.7KGS 26.2KGS (C) 0.8 1001-002

HV-10 106 254 109 163 321 276 14 17 90 KGS 50 KGS MT-3 35.5KGS 37.3KGS (C) 2 1001-003

HV-12 123 305 125 194 388 330 16 18 120 KGS 60 KGS MT-4 58.7KGS 69.8KGS (W) 2.6 1001-004

HV-14 123 353 125 225 445 389 16 18 130 KGS 70 KGS MT-4 76.61KGS 90.3KGS (W) 3.2 1001-005

HV-16 128 406 130 255 500 435 16 18 140 KGS 70 KGS MT-4 106.4KGS 123.1KGS (W) 4.2 1001-006

New Model

+RUL]RQWDO���9HUWLFDO�5RWDU\�7DEOH

63(&,),&$7,216 HV-4,6 HV-8,10,
12,14,16

Degree per one 
handle rotation 4º 4º

Scale of micro 
collar 2’ 1’

vernier reading 20’’ 10’’
Gear ratio 1:90 1:90

MILLING MACHINE ACCESSORIESA1



+RUL]RQWDO���9HUWLFDO�5RWDU\�7DEOH

2SWLRQDO�$FFHVVRULHV�
�'HWDLOV�RQ�SDJH�$��

Our Tables are made of high density Meehanite inspect 
angle to assure the excellent quality and durableness.
Use excellent machining center to process.  Spindle end 
be applied accuracy bearing.  Can be assured to keep very 
steady under load cutting.
Worm is hardened and ground.  The ratio is 90:1.  The 
work table is graduated a full 360º so that one turn of 
the handle moves the table through 4º. Micro collar is 
graduated in steps of 1’min. And vernier scale makes 
settings down to 10 seconds possible.
These Rotary Tables are popular for their excellent perfor-
mance, practical design and reasonable cost. They are 
widely used for circular cutting work, angle setting, boring, 
spot-facing and similar work.
Indexing accuracy of direct Indexing mechanism Maximum 
cumulative spacing error 1 minute.
Please choose Front-Lock 3 Jaw chuck only.

쀛

쀛

쀛

쀛

쀛

쀛

5HYHUVLEOH�W\SH

VSC-5A        SUIT FOR BS-0 OR 
                     HV-6, VUT-6, VU-150
VSC-6A        SUIT FOR BS-1 OR 
                     HV-8, 10, VUT-6, VU-200
VSC-7A, 8A  SUIT FOR BS-2 OR 
                     HV-10, 12, 14, VUT-10, 12
VSC-10A      SUIT FOR HV-14, 16

ORDER NO.

VSK-6A     SUIT FOR CS-6, CC-6
VSK-8A     SUIT FOR CS-8, CC-8
VSK-12A   SUIT FOR CC-12

ORDER NO.

��-DZ�&KXFN�)RU�5RWDU\�7DEOH��,QGH[HU
'HWDLO�VSHFL¿FDWLRQ�	�2UGHU�12��VKRZQ�RQ�SDJH�(�쀛

)RU�LQGH[HU��7KH�¿[LQJ�KROH�LV�IURP�IURQW�쀛

,7(0�
NO. 7(67,1*�2%-(&7,9( 9$5,$7,21�3(5���PP�

0$;,080�7(67('

1 FLATNESS OF CLAMPING 
SURFACE(CONCAVE) ±0.015

2
PARALLELISM OF 
CLAMPING SURFACE TO 
BASE

±0.02

�
SQUARENESS OF 
CLAMPING SURFACE TO 
ANGLE FACE

±0.02

4 TRUE RUNNING OF 
CLAMPING SURFACE ±0.015

5
TRUE RUNNING OF 
CENTER HOLE MEASURED 
AT HOLE EDGE

±0.02

(;$03/(��

)ODQJH 7DLOVWRFN

'LYLGLQJ�3ODWH

:�2�)ODQJH� :��)ODQJH :��'LYLGLQJ�3ODWH

7KH�)L[LQJ�+ROH�LV�)URP�)URQW

MILLING MACHINE ACCESSORIES A2

5
2
7$
5
<
�7
$
%
/
(



TS-1

%��7$,/672&.

7DLOVWRFN��� Unit:mm

ORDER
NO.

DGMXVWDEOH�K�
A B H , D E J 68,7�)25�02'(/ G.W.

NJV
0HDV�
&)7

&2'(
NO.KLJKHVW ORZHVW

TS-1 108 80 155-180 64 107 11 134 94 16 HV-4, HV-6, VSI-4, VSI-5, BS-0, VUT-6, 
VU-100, VU-150 3.9 0.4 1001-022

TS-2 150 115 170-195 64 150 11 155 110 16 BS-1, CC-6
CS-6, HV-8 5.5 0.4 1001-023

76�� 205 130 210-235 64 205 13 185 138 16 CS-8, HV-10, HV-12, CC-8, VUT-10,
VUT-12, VU-200 8.1 0.4 1001-024

TS-4 260 182 210-235 75 260 17 205 144 16 HV-14, CC-12, HV-16 11.9 0.7 1001-025

*DP-2 set include index plate. crank handle, 3 pcs screw, sector, 
& U Washer.
1 carton with 1 set. Gross weight: 3.5kgs.
Meas.: 0.13 CFT.
Number of the holes of Dividing Plates

ORDER NO. 68,7�)25�02'(/ :(,*+7
NJV &2'(�12�

*DP-1 IRU�+9����+9����987����98��������� 1.4 1001-030

$�3ODWH 26, 30, 34, 38, 41, 44, 47, 51, 57
28, 32, 37, 39, 43, 46, 49, 53, 59

%�3ODWH 61, 67, 71, 77, 81, 87, 91, 97
63, 69, 73 ,79, 83, 89, 93, 99

ORDER NO. 68,7�)25�02'(/ :(,*+7
NJV &2'(�12�

*DP-2 IRU +9����98���� 4.5 1001-031

'3��� IRU
+9�����������������987����
987���

4.6 1001-032

DP-4 IRU &6����� 4.6 1001-033

DP-5 IRU 98���� 4.6 1001-034

$��',9,',1*�3/$7(6

$��',9,',1*�3/$7(6 DP-1

DP-2, 3, 4, 5

TS-2~TS-4

+ROHV�1XPEHU�

$�3ODWH 15, 16, 17, 18, 19, 20

%�3ODWH 21, 23, 27, 29, 31, 33

&�3ODWH 37, 39, 41, 43, 47, 49

+ROHV�1XPEHU�

$
%

+ K

J
E D

, ,

TS-1 TS-3

2SWLRQDO�)RU�5RWDU\�7DEOH��

(;$03/(��

(;$03/(��

%

+

$

J
E

K

D

MILLING MACHINE ACCESSORIESA3



&��)/$1*(

'����-$:�&+8&.

FLT-103 For VSC-3F
FLT-104 For VSC-4F
FLT-0 For VSC-5F
FLT-1 For VSC-6F
FLT-2 For VSC-7F
FLT-3 For VSC-8F

)ODQJH Unit:mm

ORDER
NO. D d H 68,7�)25�02'(/ :(,*+7NJV

&2'(
NO.

)/7���� 90 60 20 HV-4
VU-100 0.71 1001-036

)/7���� 113 80 20 HV-6
VU-150, VUT-6 1.0 1001-037

)/7�� 138100 20 HV-6, 8
VU-150,200, VUT-6 1.9 1001-040

)/7�� 170130 21 HV-8, 10
VU-200, VUT-10 3.3 1001-041

)/7�� 195155 24 HV-10, 12, 14
VUT-10,12 5.2 1001-042

)/7�� 210160 24 HV-10,12, 14, 16
VUT-12 4.9 1001-043

FLT-103A For VSC-3A
FLT-104A For VSC-4A
FLT-0A For VSC-5A
FLT-1A For VSC-6A
FLT-2A For VSC-7A
FLT-3A For VSC-8A

FLange for VSC-A TYPE

Unit:mm

ORDER
NO. D d H 68,7�)25�02'(/ 7�187�6,=( %2/7 :(,*+7

NJV
&2'(
NO.

)/7����$ 90 55 20 HV-4
VU-100

M8x10
3412M M8x20L 0.71 1001-044

)/7����$ 113 72 20 HV-6
VU-150, VUT-6

M8x10
3412M M8x20L 1.0 1001-045

)/7��$ 138 100 20 HV-6, 8
VU-150,200, VUT-6

M8x10
3412M M8x20L 1.9 1001-046

)/7��$ 170 130 21 HV-8, 10
VU-200, VUT-10

M10x14
SPECIAL SIZE M10x25L 3.3 1001-047

)/7��$ 195 155 24 HV-10, 12, 14
VUT-10,12

M10x14
SPECIAL SIZE M10x25L 5.2 1001-048

)/7��$ 210 165 24 HV-10,12, 14, 16
VUT-12

M10x16
SPECIAL SIZE M10x30L 4.9 1001-049

2SWLRQDO�)RU�5RWDU\�7DEOH��

'HWDLO�VSHFL¿FDWLRQ�	�2UGHU�12��VKRZQ�RQ�SDJH�(�

5HYHUVLEOH�W\SHVSC-3A        SUIT FOR HV-4, VU-100(FLT-103A)
VSC-5A        SUIT FOR BS-0 OR 
                     HV-6, VUT-6, VU-150(FLT-0A)
VSC-6A        SUIT FOR BS-1 OR 
                     HV-8, 10, VUT-6, VU-200(FLT-1A)
VSC-7A, 8A  SUIT FOR BS-2 OR 
                     HV-10, 12, 14, VUT-10, 12(FLT-2A,FLT-3A)
VSC-10A      SUIT FOR HV-14, 16

ORDER NO.

)RU�LQGH[HU��7KH�¿[LQJ
KROH�LV�IURP�IURQW�

VSK-6A     SUIT FOR CS-6, CC-6
VSK-8A     SUIT FOR CS-8, CC-8
VSK-12A   SUIT FOR CC-12

ORDER NO.

��-DZ�&KXFN�)RU�5RWDU\�7DEOH��,QGH[HU

쀛

ORDER
NO. '�6L]H d1 d2 THREAD 68,7�)25�02'(/

96&��$ 130mm(5”) 115 100 3-M8 BS-0, HV-6,VUT-6, 
VU-150

96&��$ 160mm(6”) 142 130 3-M8 HV-8, HV-10,VUT-6, 
VU-200

96&��$ 190mm(7 1/2”) 172 155 3-M10 BS-2, HV-10,12,14, 
VUT-10,1296&��$ 200mm(8”) 180 165 3-M10

96&���$ 250mm(10”) 225 206 3-M12 HV-14,16

ORDER
NO. '�6L]H d1 d2 THREAD 68,7�)25�02'(/

96.��$   160mm(6”) 142 130 3-M8 CS-6, CC-6

96.��$   200mm(8”) 180 165 3-M12 CS-8, CC-8

96.���$   315mm(10”) 285 260 3-M16 CC-12

Ø25

(FRQRPLFDO�7\SH

d FOR 3 JAW CHUCK-0.035
-0.015

MILLING MACHINE ACCESSORIES A4

5
2
7$
5
<
�7
$
%
/
(


